APPENDIXB Tables gy
Critical Values of Student’s £Distribution
The entries in this table, #df, «), are the crit-
ical values for Student’s t-distribution for @ = area of
p-value which the area under the curve in the one tail
~ right-hand tail is «. Critical values for the .
< : left-hand tail are found by symmetry. : 0 1(df, )
] g ; Amount of ¢ in One Tail
0.0013 ! 025 0.05 0.025 001 0.005
0.0011 ‘ Amount of cx in Two Tails
0.0010 _ if 050 020 010 0.5 0.01
0.0008 3 0.765 1.64 2.35 318 _ 454 5.84
0.0007 4 0.1 - 18 213 2.78 3.5 4.60
b 0.729 148 2.02 2.51 337 4.03
6 0.718 144 1.94 245 314 an
0.0006 7 0.7 142 189 236 300 350
0.0005 % 8 0.706 140 1.86 ’ 2.31 290 3.36
0.0004 € g 0.703 183 2.26 2.82 3.25
0.0003 1 0.700 137 181 2.3 216 3
0.0003 1 0667 136 180 220 2 a
12 0.696 1.36 1.8 218 2.68 3.05
13 0.694 1.35 1.17 216 2.65 . 301
0.0002 1 0.692 1.35 1.76 214 298
0.0002 15 0591 134 175 213 . 260 295
0.0002 1 0680 134 175 212 258 292
0.0001 17 0.689 1.33 1.74 21 2.57 290
0.0001 18 0.688 1.33 1.73 210 255 2.88
19 0.688 1.33 1.73 209 254 2.86
| 0.0001 20 0.687 - 1.33 1.72 ‘ 2.09 . 25 2.85
0.0001 21 0.686 - 1.32 1.12 208 252 2.83
0.0001 22 0.686 1.32 ‘ 1.12 207 2.51 2.82
’ 23 0.685 1.32 1.1 207 250 281
0+ 2 0.685 1.32 1.1 2.06 248 2.80
0-+ 25 0.684 1.32 11 2.06 2.49 2.19
26 0.684 132 1.7 2.06 248 2.18
21 0.684 1.31 1.70 205 2.47 217
28 0.683 1.31 1.70 2.05 247 2.76
29 0.583 1.31 1.10 2.05 246 2.76
30 0.683 1.31 1.70 2.04 246 2.75
35 © 0682 1.31 1.69 2.03 244 213
40 0.681 1.30 1.68 202 242 2.10
50 0.679 1.30 1.68 20 248 2,68
0 0.678 1.29 1.67 1.99 2.38 265
100 0.677 1.29 1.66 1.98 2.36 263
df > 100 0675 1.28 165 - 1.96 . 233 2.58
Noxlc tail o = area of two tails
(') 1) =1(df. a/2) (I) +{df, a/2)
One-tailed example: . Two-tailed example:
df=9 and a=0.10 df =14, 0= 0,02, 1 - o= 0.98
Hdl, ) =1(9,0,10) = 1.38 1(dr, af2) =1(14, 0.01) = 2.62

For specific details about using this table to find: confidence coefficients, see pages 477-480; p-values, pages 483, 486; crit-
ical values, pages 477-478.




